
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-drive-unit
7/4/25

OES9138 3HP 3PH Drive Unit
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-drive-unit


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-drive-unit
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 OES-020 Ball Bearing Assembly  2

2 TS-2360121 Flat Washer M12 4

3 TS-1551081 Lock Washer M12 6

4 TS-1492041 Hex Cap Screw M12 x 40 4

5 OES-021 Pivot Shaft  1

6 OES-022 Motor Base  1

7 TS-1525011 Socket Set Screw M10 x 10 2

8 OES-023A Motor 3HP, 1Ph, 230V 1

 OES-087A Motor 3HP, 3Ph,
230/460V 1

9 TS-1550071 Flat Washer M10 4

10 TS-1551071 Lock Washer M10 6

11 TS-1492031 Hex Cap Screw M12 x 35 4

12 OES-024A Oscillating Motor Bracket  1

13 TS-1551061 Lock Washer M8 5

14 TS-1504051 Socket Head Cap Screw M8 x 25 2

15 TS-1504041 Socket Head Cap Screw M8 x 20 4

16 OES-025B Oscillating Unit (includes circled items on breakdown)  1

17 OES-026B Reducer Box  1

18 OES-027 Bracket  1

19 TS-1550061 Flat Washer M8 2

21 TS-2248162 Socket Head Button Screw M8 x 16 2

22 OES-028 Bearing Housing  1

23 OES-029 Bearing 6001 1

24 OES-030 Spherical Bearing PB-10 1

26 TS-149105 Hex Cap Screw M10 x 35 1

28 TS-2331101 Cap Nut M10 1

30 TS-1492021 Hex Cap Screw M12 x 30 1

31 OES-031 Cam  1

32 OES-032 Shaft Key M6 x 30 1

33 OES-033 Flat Washer 8 x 22 x 5 1

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-drive-unit


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-drive-unit
7/4/25

35 TS-2248202 Socket Head Button Screw M8 x 20 1

36 OES-034 Drive Drum  1

37 OES-035 Washer 12 x 40 x 4 1

39 TS-1492011 Hex Cap Screw M12 x 25 1

40 OES-088 Power Cord (not shown) 1PH 1

 OES-089A Power Cord (not shown) 3PH/600V 1

41 OES-090 Motor Cord (not shown) 1PH 1

 OES-091A Motor Cord (not shown) 3PH/600V 1

42 OES-092 Switch Cord (not shown) 1PH 1

 OES-092A Switch Cord (not shown) 3PH/600V 1

43 OES-023SC Capacitor, Start (not shown)  1

44 OES-023RC Capacitor, Run (not shown)  1

Additional Information

Stock Number 1791293-2

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-drive-unit

